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General Instructions:

1 There are 34 questions in the question paper.

2. All questions are compulsory

3. Question nos. 1 to 20 carrying 1 mark each.

4 Question nos. 21-24 are short answer type—| questions
carrying 3 marks each.

5. Question nos. 25-30 are short answer type—Il questions carrying 4

marks each.
6. Questionnos.31-34 are long answer type questions carrying 6 marks each.
7. There is no overall choice. However, an internal choice has been

provided in 2 questions of three marks, 2 questions of four marks
and 2 questions of six marks.
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Name the process which coordinates human efforts, assembles resources, and integrates
both into a unified whole to be utilised for achieving specified objectives.

(a) Management
(b) Planning

(c) Organising

(

d) Directing
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‘Make in India’ scheme started by the government of India is a part of

a) Economic Environment

b) Political Environment.

c) Social Environment

d) Technological Environment
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Indigo Limited has a staff of 300 people which is grouped into different departments. The
organisational structure depicts that 100 people work in Production department, 150 in
Finance department, 20 in Technology department and 30 in Human Resource department.
Identify the type of organisational structure being followed by the company.
(a) Functional structure
(b) Divisional structure
(c) Informal structure
(d) None of the above
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Identify the dimensions of the business environment illustrated by the picture given above.
a. Legal

b. Technological

¢. Economic

d. Social
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Rohan works as a production manager in Global Enterprises Limited. He has been given the
task of getting 1000 units of hand woven table mats manufactured at the cost of X150 per




unit within 10 days. In order to be acknowledged as an effective manager, he must ensure
that

(a) The cost of production does not exceed X150 per unit

(b) The work is completed within 10 days even at higher cost per unit

(c) The cost of production is less than X150 per unit

(d) All of the above
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The Reserve Bank of India (RBI) on May 19, 2023 announced that the Rs 2,000 currency note
was being withdrawn from circulation, giving the public time till September 30, 2023 to
exchange or deposit the high-denomination note. Identify the concept being described in the
above lines.

(a) Globalisation
(b) Liberalisation
(c) Demonetisation

(d) Privatisation
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The Uttarakhand government has developed surveillance network using latest satellite
technology. Under this system, the state’s mining department would be in a position to check
illegal mining activities across the state. The state government is also considering the use of
drones in its proposed campaign against illegal mining. Identify the related dimensions of
business environment.

(a) Economic dimension and Legal dimension

(b) Social dimension and Economic dimension




(c) Technological dimension and Political dimension
(d) Political dimension and Economic dimension
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A manager obtains the required capital at 8 % interest while the prevailing rate of interest in
the market is 9 %. How would you describe such a manager?
a. Efficient
b. Effective
c. Efficient and Effective both
d. None of the above
9. | Icuted RIS &t = FLd TH7T Tg TAT 47 T T (9 9= 7, el 326 % & AT &
HHTEA 9 % 2fT| T 7 97T o6 g [urar F=07 FHATRAT il ATILAT T 6 H10T AT TG
Rt TR==ror ITerar o fohe =0T T 9T 2
%, ATEATa S TG T ATIA
b. AT o AT ATEA (AT TG o0l AT HLAT
UREEEEEIREE LU
o, AT DHIRATS DA
While scrutinizing the production records it is found that in a particular Batch, the rejection
rate was 15% against the standard of 10 %. The management found out that this was due to
negligence of quality control staff. This action is part of which step in the controlling process.
a.Measurement of actual performance
b.comparing actual performance with standards
c.analysing deviations
d.taking corrective action
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Which of the following is not important for controlling function?

a) It ensures order and discipline.

(

(b) It restricts coordination in action.

(c) It helps in judging the accuracy of standards.
(

d) It improves employee motivation.
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Statement-1 Product specialisation contributes to the development of diverse abilities in a
divisional head, preparing him for higher roles.

Statement-Il Divisional heads are held accountable for profits since revenues and costs
associated with various departments are clearly identifiable and attributed to them.

Choose the correct option from the options given below:
a. Statement | is true and Il is false

b. Statement Il is true and | is false

c. Both the statements are true

d. Both the statements are false
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Statement-l Packaging refers to the production of goods that meet predetermined
specifications, which aids in the production of uniformity and consistency.

Statement-Il Grading is said to be the process of categorizing different products into different
groups based on important characteristics such as quality, size, and so on.

Choose the correct option from the options given below:

a. Statement | is true and Il is false

b. Statement Il is true and | is false

c. Both the statements are true

d. Both the statements are false
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(a) (ii), (iii), (i), (iv)
(b) (i), (i), (ii) ,(iv)
(c) (i), (i), (i), (iv)
(d) (i), (i), (i), (iv)

Match the various terms of Financial Markets Column - | with their respective Statements in
Column-li

Column - | Column - 11

a Money Market i | Instruments are generally
much safer with a minimum
risk of default.

b Primary Market li | Only new securities are
traded.

C Capital Market lii | Instruments are riskier both
with respect to return and
repayment.

d Stock Exchange Iv | It facilitates the transaction




between traders of financial
instruments and targeted
buyers.

(a) (ii), (iii), (i),(iv)
(b) (i), (iii), (ii) ,(iv)
(c) (i), (i), (ii), (iv)
(d) (i), (ii), (iii), (iv)
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Stock Exchange works as a mechanism for the valuation of securities through the forces of
demand and supply. Identify the related function performed by the stock exchanges.

(a) Providing liquidity and marketability to existing securities
(b) Safety of transaction
(c) Pricing of security

(d) Spreading of the equity cult
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In order to promote the habit of health and hygiene among weaker sections of society,
Abhyas Limited has launched low-cost packs of hand wash. Identify the type of marketing
philosophy being adopted by the company.




(a) Product concept
(b) Production concept
(c) Marketing concept

(d) Societal marketing concept
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Name the process that enables the management to foresee the fund requirements, both the
quantum as well as the timing.

(a) Financial management
(b) Capital budgeting decisions
(c) Dividend decision

(d) Financial planning

17.

3T 7T TG A b &I H UdTehdT YT - & [o1g, ST fAffe s o U aY usmaelt o
A1 Y U 3Harg Iderur foan| <t 715 tfed § IfcaRad fauur &l &1 ugamH |

(T) TSR &1 TFBRI SHGT HRAT R ST A0 FH=AT
EDIELEERISE]

(¥ Seure fEsrsf SR fasra

(ST) UBTSHT SR Aaifef

In order to get feedback about its new product launch, Taggi Limited conducted an online
survey through a short questionnaire. Identify the marketing function being mentioned in the
given line.

(a) Gathering and analysing market information




(b) Marketing planning
(c) Product designing and development

(d) Packaging and labelling
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Ashan Ltd. is a natural and ethical firm that specialises in providing organic bathing items for
men and women. The company uses plant-based elements in its goods and is the country’s
leading organic brand. It not only meets the needs of its clients, but it also believes in
environmental conservation as a whole. Determine the marketing management philosophy
that ‘Beauty Products Ltd.” employs.

(a) Social marketing concept
(b) Selling concept
(c) Production concept
(d) Product concept
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A tea company is attempting to expand its operations. It recognises that the function of the
intermediaries will be crucial in this regard. A conference of top management is called, and
the causes that are causing the distributors’ potential to be underutilised are discussed.
Intermediaries play a critical function in a product like tea. The company has decided to offer
them discounts and to launch a robust promotional effort to entice them to participate. In
the example above, which aspect of the marketing mix is highlighted?

(a) Promotion
(b) Price

(c) Place

(d) Product

20.

rerferfra o od: SIHBY (7) i F127 (3)

3 FRr T Pt & & ) e o

HIUBY (1) Tarere FHETeT 6 F ITART & AT 787 2

T (SATX): TG o6 ToIT 2277 Sl TATaefaar |1 ol Fqierd HLAT aeda gl

ICETCeR

U) MYBYT () &7 FT07 (3A77) T HeF & 3 F7207 (317) AHTHBYT () T Tt T80 2
1) TUBY (1) 77 FT207 (A1) 7 T & & F07 (317) HTHBY (7) 7 Ty e 72t
g
) UBY (1) 7w & <A FHTT07 (A1) T 2

=) SYHYU (1) Tere & AT 207 (A7) T 2

Read the following statements: Assertion (A) and Reason(R).

Choose the correct alternative from those given below:

ASSERTION (A): Management is not concerned with efficient use of resources.

REASONING (R): For management both efficiency and effectiveness need to be balanced.
Alternatives:

a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).

b) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct explanation of
Assertion (A)

c) Assertion (A) is true but Reason (R) is False

d) Assertion (A) is False but Reason (R) is True
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Ashutosh Goenka was working in ‘Axe Ltd.’, a company manufacturing air purifiers. He found




that the profits has started declining from the last six months. Profit has an implication for
the survival of the firm, so he analysed the business environment to find out the reasons for
this decline.

1. ldentify the level of management at which Ashutosh Goenka was working.
2. State two other functions being performed by Ashutosh Goenka.
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Resolutions Pvt. Ltd. is a publishing company. Its book on Business Studies for class Xll is in
great demand. As a result, the employees in the marketing department are always racing
against time. The employees have to work overtime and on holidays to cater to the demand.
Managers in the marketing department are under stress as they have to handle more than
two territories. The work stress has led to dissatisfaction among the employees and
managers.

1. Name and explain the step of staffing process which has not been performed
properly.
2. State the next two stages immediately following the step identified in part ‘a’.
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Discuss the relationship between planning and controlling.
OR
Explain last three steps involved in the process of controlling.
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State any three functions of a financial market?
OR

“Capital Market is essentially a market for Long-term funds.” Discuss.
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The staffing function is performed by every manager and not necessarily by a separate
department. Explain.
OR

What are the advantages of training to the employees?

26.

TR P YT T 87

T
A P SAYRUN B! |

What are the barriers to communication?
OR
Explain the concept of Leadership.

27.

off e Rienfar o forar &1 die 3R Wi &1 331 SIauTd ¢ | 98 THAET o [o7g U
ST ATEd § Afdh-T 39 T Tierd & o 39 faorg o wnfiyd 191 anfeu | SuRd 33 &
SR TR T SATIDH! Tl & o ot Ren=a1 Y 3o 3¢ Bl 3AReT N1 A1fge? 3o
JWR & HIT T IS A9 HRUT Fd1sY |

Mr. Nitin Singhania’s father has a good business of iron and steel. He wants to go to the USA
for his MBA but his father thinks that he should join the business. On the basis of emerging-
trends, do you think that Mr. Singhania should send his son to the USA? Give any three
reasons in support of your answer.
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State any four factors that the finance manager of the company should keep in mind while
arranging its working capital.
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Identify the type of decisions:

1. Ravi wants to open a restaurant and is looking for a proper place to open it. He is also
thinking of the amount of funds which will be required for some of the set ups like food
making and storing machineries.

2. Ravindra is running a toy manufacturing company. He thinks of expanding his business. He

meets his uncle and asks him for a sum of Rs. 2 crores. His uncle asks for a high interest
rate. He agrees to it and promises to pay the money back within 2 years.

3. Aleading marketing company has decided to raise money through the stock market. It

issued IPO in the market last year. The company knows there are going to be sizeable
floatation costs involved in it.

4. A company which has 10 branches in the city has decided to open its 11th branch. The

company has taken this branch on rent. In this way the company has saved money which
it would otherwise have invested in purchasing it.
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Aman, a degree holder in Entrepreneurship came to know about Piplantri Village located in
Rajasthan, where in 2006 an initiative was started in which 111 trees are planted every time
a girl child is born.

To keep termites away from the trees the villagers have planted 2.5 million Aloe Vera plants
around the trees. This has turned the village into an oasis, as the planting of trees led to
higher water levels.

Aman decided to visit the village to start a business unit, for the processing and marketing
of Aloe Vera into juices, gels and other products.

However, on visiting the village Aman found that the villagers were suffering exploitation at
the hands of local merchants who were engaged in unscrupulous, exploitative trade




practices like hoarding and black marketing of food products and also selling unsafe and
adulterated products to the villagers.

After looking at their plight, instead of a business organisation, he decided to set up an
organisation for the protection and promotion of the consumer interest of the villagers.
State the functions that the organisation established by Aman will be performing. (Any four
points).
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Differentiate between Fayol’s and Taylor’s Approach to Management.
OR
Name and explain principles of scientific management.
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What are the steps taken by management in the planning process?
OR
What are the main features to be considered by the management while planning?

33.

Hifed T Ia RIS FIGa! fAftes P I1Y HTH HR I8 & | 98 HUT B (oTd JR&T S
Bt Yl oft R R § 1 Hu et ok st o fafiys ufal & 3 gamT iR gRe Jarg
U&H Bt & | ST T el ST YR TR B1 ST § 1 39 B gRT ST BRI 7Y TS
3T SAFCRT 3R T B! UTael o ol ST SiTd g | Aifed T 0= 11d § S$ip=rd ani
Y ASHTR HodT BRI & ot ATER B

1. ! Ry wfaast faffids gR1 ugad vell & Hid &1 ArH Jadrsu|

2. Yol & 9 HId B Pg o4 gI-d1 garsd|

3. REMTTTIST & SHTARADH AT D! U DX [or DHU= ARl B SHaIB A UGThH b
STIR IR Gl 6|

Mohit Gupta is working with Yellow Security Services Ltd. He is also recruiting security guards
for the company. The company provides security services in Delhi and Noida at short notice
to various companies. The guards are recruited on a temporary basis. The guards provided by
this company are known for their honesty and punctuality. Mohit Gupta is well-known in his
village for providing employment to unskilled people.

1. Name the source of recruitment used by Yellow Security Services Ltd.

2. State any three disadvantages of this source of recruitment.

3. Identify the need of security guards which is being fulfilled by the company as per
Maslow’s need hierarchy.
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Rastro Inc., is a multinational corporation that creates consumer electronics, personal
computers, servers and computer software. The company also has a chain of retail stores
known as Restro Stores. Despite high competition, Restro has succeeded in creating demand
for its products, giving the company power over prices through product differentiation,
innovative advertising and ensured brand loyalty.

In the context of above case:

1. What is product differentiation?

Name any one function of marketing that facilitates product differentiation.

3. Identify the component of promotion mix being used by the company by quoting lines
from the paragraph. .

4. Describe briefly the pricing objective pursued by the company.
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